
A
d

d
in

g
 d

ecim
a

ls – cro
ssin

g
 th

e w
h

o
le

1
 

W
o

rk o
u

t th
e to

ta
ls o

f th
ese d

ecim
a

ls.

U
se th

e n
u

m
b

er lin
es to

 h
elp

 y
o

u
.

a
) 0.7 + 0.7 = 

 0
0.5

1.5
1

2

b
) 0.9 + 0.45 = 

 

  
0

0.5
1.5

1
2

c) 
0.6 + 0.8 + 0.15 = 

 

 
0

0.5
1.5

1
2

2
 

C
o

m
p

lete th
e a

d
d

itio
n

s.

a
) 0.74 + 0.36 = 

 
 

 
       

O
n

es
Ten

th
s

H
u

n
d

red
th

s

   
 

 
 

 
 

 

 
 

 

 
 

 
 

 
 

 

 

b
) 0.86 + 0.68 = 

 

 
       

O
n

es
Ten

th
s

H
u

n
d

red
th

s

   
 

 
 

 
 

 

 
 

 

 
 

 
 

 

 
 

 
 

 
 

 
 

 
 

©
 W

h
ite R

o
se M

a
th

s 2020

0
7

4

+
0

3
6

0
8

6

+
0

6
8



0
3

+
0

8
0

4

0
6

0
4

+
0

5
1

9

3
 

U
se th

e co
lu

m
n

 m
eth

o
d

 to
 w

o
rk o

u
t th

e a
d

d
itio

n
s.

a
)                                             e)

b
)                                             f)

c) 
                                            g

)

d
)                                             h

)

0
7

5
1

+
0

3
2

0
5

+
0

7
7

0
2

2
2

+
0

8
7

6

©
 W

h
ite R

o
se M

a
th

s 2020

4
 

Ted
d

y
 ru

n
s 0.32 km

.

 
A

m
ir ru

n
s h

a
lf a

 kilo
m

etre.

 
W

h
itn

ey
 ru

n
s 0.47 km

.

a
) H

o
w

 fa
r d

o
 th

ey
 ru

n
 a

lto
g

eth
er?

 km

b
) Ja

ck ru
n

s 7 ten
th

s o
f a

 kilo
m

etre fu
rth

er th
a

n
 W

h
itn

ey
.

 
H

o
w

 fa
r d

o
es Ja

ck ru
n

?

 km

5
 

R
o

n
 b

u
y

s a
ll th

ese item
s p

lu
s a

 d
rin

k co
stin

g
 n

in
ety

-fi
ve p

en
ce.

 
H

o
w

 m
u

ch
 d

o
es R

o
n

 sp
en

d
 in

 to
ta

l?

  
R

o
n

 sp
en

d
s £

 
 in

 to
ta

l. 

0
4

2

+
0

6
9

0
4

1

+
0

7

0
9

6

+
0

9
7

C
risp

s

£0.79

£0.65

£0.54


